( B(1stSm.)-Pol. Sc.-HIDSCC-1/CCF )

2024

POLITICAL SCIENCE — HONOURS
Paper : DSCC-1
(Political Theory : Foundational Concepts)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

1. Write short notes on any three of the following (each within 100 words) : 5%3
(a) Conceptual distinction between ‘State’ and ‘Nation’
(b) Legitimacy as the foundation of authority in political system
(c) Importance of right in the life of citizen
(d) Distinctive features of Classical Democracy

(e) Rawls on ‘Veil of Ignorance’.
Module - 1

2. Answer any one of the following (within 500 words) : 20x1

(a) Do you think that power equation and conflict lie at the centre of the concept of ‘political’?
Give reasons for your answer.

(b) Discuss the evolution of the concept of sovereignty from the Westphalian era to the twenty first
century.
3. Answer any one of the following (within 150 words) : 10x1
(a) Why is the State theorised as a political system?

(b) Explain the relationship of law and liberty in a democratic system.
Module - 2

4. Answer any one of the following (within 500 words) : 20x1

(a) Despite some demerits and limitations authoritarianism has some specific advantages. Explain the
statement in the context of the features of authoritarianism.

(b) Can it be said that the classical concept of citizenship has undergone changes due to globalisation?
Explain with logic.
5. Answer any one of the following (within 150 words) : 10x1
(a) Discuss, with examples, the differences between Positive Freedom and Negative Freedom.

(b) Why is political obligation regarded as an essential condition for a well organised political system?

(1026)



